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Question 1
Question Type: MultipleChoice

For a customer to receive a Subscription communication, what must they have?

Options: 
A- an active address contact preference

B- an active address type preference

C- an active person contact preference

D- an active account contact preference

Answer: 
D

Question 2
Question Type: MultipleChoice



How do you ensure that specific Validation, Editing, and Estimation (VEE) rules are applied to estimated measurements?

Options: 
A- by adding the VEE Group to the Device Configuration Type

B- by adding the estimation rules to the Manual Override VEE Group to the Measuring Component Type

C- by adding the VEE Group to the Device Type

D- by adding the VEE Group as the Fallback VEE Group for the appropriate VEE role

Answer: 
B

Question 3
Question Type: MultipleChoice

Which statement supports usage transaction calculation?



Options: 
A- Bill determinants are derived from the final measurements for only interval measuring components or

devices installed at the usage subscription's service points during the calculation period.

B- Bill determinants are derived from the initial measurement data of the measuring components devices installed at the usage

subscription's service points during calculation period.

C- Bill determinants are derived from the final measurements of the measuring components or devices installed at the usage

subscription's service points during the calculation period.

D- Bill determinants are derived from the initial measurement data of the measuring components installed at the usage subscription's

devices during the calculation period.

Answer: 
C

Question 4
Question Type: MultipleChoice

How many bill segment-related financial transactions do pay plans have?



Options: 
A- depends on the number of payments that is part of the pay plan

B- one

C- depends on the number of bills that will contain the customer's pay plan commitments

D- none

E- unlimited

Answer: 
C

Question 5
Question Type: MultipleChoice

If a customer makes a payment for more than what is due for the account, which entity contains the logic for how this overpayment

should be handled?

Options: 



A- Tender Type

B- Installation Options

C- Customer Class

D- Pay Segment Type

E- Service Agreement Type

Answer: 
B, C, E

Question 6
Question Type: MultipleChoice

Which two plug-in spots can call the rating functionality using base package-supplied algorithm types? (Choose two.)

Options: 
A- Adjustment Type - Adjustment FT Creation

B- Billable Charge Template



C- Bill Segment Type - Bill Segment Create

D- Adjustment Type - Generate

E- Bill Segment Type - Bill Segment FT Creation

Answer: 
A, E

Question 7
Question Type: MultipleChoice

When configuring the Get Scalar Details usage rule, which three attributes can be defined to retrieve scalar values? (Choose three.)

Options: 
A- Unit of Measure

B- Device ID

C- Service Quantity Identifier

D- Time of Use



E- Service Point ID

Answer: 
B, D, E

Question 8
Question Type: MultipleChoice

What Service Order activity types does the application include?

Options: 
A- Start Service; Stop Service; Cut for Non-Payment; Reconnect Service for Payment; Exchange Meter; Move-In/Move-Out Service

B- Start Service; Stop Service; Install Meter; Remove Meter; Exchange Meter; Move-In/Move-Out Service

C- Enable Service; Disable Service; Install Meter; Remove Meter; Exchange Meter; Back-to-Back Service

D- Enable Service; Disable Service; Cut for Non-Payment; Reconnect Service for Payment; Exchange Meter; Back-to-Back Service

Answer: 



D
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